e R IR
BESH
NEAEEE

W37 M (TR )

RRH

T &M E(RIFEEAEL@ 360°)

B KR

D YR

RATESEM
PRI R R

R AE N R R
RFERX RS IBER
BB R RGEBILR
AHESRRNRERH
MTTFd/MTBF
s E

T AR B RIR e (typ.) RIEE K
T A BRI (typ.) BEER

& B R AR
WHRAXBRAR
BB R AR M R R
WO BSER
BR&LHBEBE
REBSERE
BRELUBRBE
TR
HWEBRSEETR
BREUEBBEILR
&ZmBERERTR
BREUEBBEITR

B ES T
i BB E
Brir &4
R

ITHRENEFRE

IEC 68-2-6 #k3l (Amax =0.75mm, f=5 ... 2000 Hz)

IEC 68-2-27 # &

HEtnE

EN 55022 class B, Emission radiated (30... 230 MHz)
EN 55022 class B, Emission radiated (230... 1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 67000-4-3, Immission HF radiated (80... 1000 MHz)

EN 61000-4-4, Burst (on all lines)

EN 61000-4-5, Surge (lines to ground))

EN 67000-4-6, Immission HF conducted (0.15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, Tbar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

RARHEHAR (L) ARAH

AW |

-

o

% of meas. range
% of meas. range
bit

kHz

kHz

LS

Ls

pom/°K

years

vbC

mA

mA

kOhm

nF

mm?

mm?

mm?

mm?

movements
°c

g

g

aBuV/m)
aBuVv/m)
144

V/im

144

KV

Vemk
A/m
GOhm
KV

MH-C

0... 360

+0.3

+0.5

o7

72

0.7

)

7.66

(800)

4600

100

240/ 240
8...35

(19)

74

70

700

yes

Wires (3x)
0.56 (AWGZ20)
Cable 3pole
0.56 (AWG20)
yes

Wires (6x)
0.56 (AWG20)
Cable 6pole
0.25 (AWG24)

360 (continuous)
P68

no limitation

-40 ... +85

50

200

max. 30
max. 37
+4 /48
30
+]

£

30
20

TEL:400-800-5927

www.imcortech.net

ER (L) FRAF

MH-C2

0... 360
+0.3

+0.5

0.1

4

0.7

@)

0.5

(800)

2500

100

209 /209
8..35
(20)

15

70

700

yes

Wires (3x)
0.56 (AWGZ20)
Cable 3pole
0.56 (AWG20)
no

360 (continuous)

P68

no limitation
-40 ... +85
50

200

max. 30
max. 37
+4 /48
30
+]
£
70
30
20

-?

Vert-X 27E - 24V / 0.5 - 4.5V

B1A
WEI
X%
BER

FREAMN

B 051 %40 P63
MR
SEIEA N B 5%
RENESERANE
B H R

(RE GBS, AR E)
EREESAEEEAS
DPRRANEH

@R MH-C

2 YR 12bit

HMH-C2EE

P @4 SR MH-C2

2 YR 14bit

R A, EEAFEAMAEATH
BEFRE/RE (Tik)

CONIELEC

A company of the Siedle-Group

A8T.: 17316386953



RRBIFEHEAR (L) FRAF

BB EE CW i

EEAEE CCW ik 2
TR, EBm#HECW ik 3
TR, EM#ECCW ik 4
TR, XXESHEALS

B B S B

3 Al L4 4pole
5 #rfE 48 3pole
7 Ak R
6pole

Vert-X 27E - 24V / 0.5 - 4.5V
ik (REFEFEFER)

TR

BEX—IMHF

(B K. 127), 1L B 1 3T B Bk

EMAEE CW H 1R XBHATIEA 9 WL BB BHHREH
EMEEE CCW #1BEFF i H Wik B
EMEBE CW H2BFF XM Ak C S B/ )
EM#8E CCW 288 FF < 4 tH AT 3% D 4 #rE B LY 3pole
HE¥ J5 18 iR E Ak E 6 A3k E LB 46pole
B AR S B TR E T F o W KL | HHAL
P RMBER S B R E W% G
IR MR 5 B AR E Wik H B KE
A Vert-X EasiE Bl 8842 ATk P 01 W 100m
03 mi% 30cm
05 #5/# 50cm
wHES 99 Tk BB K
0.5VDC ... 10VvDC Standard 2
Length of cable
02F5#1.0m
06 1%£3.0m
Jpees o om
I 99M[ % Special length
Vert-X 2 7 E 2 7 3 6 1 2 1 5 0 5
BHREA
36HR AR A360°
xxA#%£03 to 35; Declaration in 10° steps
99TE R R A
LB RE
7MH-C
8MH-C2
AL 45 4 R A<
22E1 I A R R %K size 9 ; BitEH AT HlMtype 1
22E2#T A Al IR R 3% size 9 ; Wit H 1T Hl Mtype 2
22E9RIE BRIV BB RATIG
1T il g M AT LA MH-C MH-C2
T HIAE X X
1T 5 48 X X
#£0x% ... y% Ub (within 5% ... 95% Ub) X X
BRI AR SR R X X
FFRINBEETTL (max. 2) X X
A X
BB A SEE 30° to 360° (ex factory) X X
B ARE (K | X
IR MEL RANRE (B L L) X
KE¥: 5 MCW/CCW AR E / Al 4miz (AL L R 4F) X
X

RE|RARE ARE (FNKBRIEKY)

RARHEHAR (L) ARAH

TEL:400-800-5927

www.imcortech.net

ik (REEFER)

CONIELEC

A company of the Siedle-Group
A8T.: 17316386953



R}

RERBEEAR (L) FRAF

-

Vert-X 27E2 xxx XXX 5xx
Vert-X 27E2 xxX XXX 7xx

B (incl.)
Einbaumass / *dz Ix BER T

: B ox HHSELE
working position q 484 M5x12

3x M3X3,5 1,6

w

THRUEQZ)FMEERITIE R
TRAHL
SERRER

@14

@B Hs

Ll

—

Il

712
215

Fu)
T
LLU

824, 6 —8,05

13, 35 15,6

Vert-X 27E2 xxx XxXx 4xx
Vert-X 27E2 xxx XXX 6Xxx
B4 (incl.)

Ix BERT
Einbaumass gz O R S AT

working position R4 M5x12

oo

o
oJ

| e THEABEZ)MEERTIGER
FHRAED
SERERFR

@12

M3 x3.5(3x)

-0, 05
I
s
T

=}

@27
|
[
=
_
@
@15

@24,6

p—
—

F
| .

@6 H8

$3 H7 x5

5:)
| O1

1

#19 5,9

18 15,6

CONIELEC

A company of the Siedle-Group

BRABEA () ARAT TEL:400-800-5927 A8T1.: 17316386953
www.imcortech.net



R}

REREEFEAR (L) FRAF

Vert-X 27E1 xxx Xxx 5xx
Vert-X 27E1 xxx XxXx 7xx

B2 (incl.)
Einbaumass Lz ;ig;i;;
working positiaon 48 44 M5 12
3)( MBXBA 5 ,] 6
W10 <1 | 4 T B (2) MBI AT AL R
S W 8% YR AL
- oS BEREES
ﬂ ‘ M LD“ (9 (i@}
i =| §
~ = | M %( y !
™ e 1 -
= E* T o 1 — 'K i
1 N
A  HH =
Y
Y H | 1

e 13,35 10,5
Vert-X 27E1 xxx Xxx 4xx
Vert-X 27E1 xxx XXX 6Xxx
B4 (incl.)
1x BEXRF
Einbaumass /g7 2X WS E
_ working posilio | o R4 M5x 12
= N _SWO 16 4
I - =T T B (Z) MR RATHLE A2
2} _ FRAEL
o; /’ ] 2- ‘ i o BERERR
1 1l s
1 \ | 1] = 1—!
Al i—;_; (@)
] \ ] ISHER St b ] l
] (@]
) s/ 'Q HH =y 83
~ Y L [oYe
T »‘ 1
F e
= 5, g 4! s
_ 219 o B 18 o 10,5_ -

CONIELEC

A company of the Siedle-Group

BRABEA () ARAT TEL:400-800-5927 Af1.: 17316386953
www.imcortech.net



REBEFAR (LB FRAH

-

—

Vert-X 27E2
ZRER
TEHIE(Z)
MH-C 12.80mm
| MH-C redundant 12.30mm
é_ MH-C2 12.80mm
ﬁ : BEPERATHAD R A S 5
™~y : ; | dx +0.25mm
- dy +0.25mm
/ ¥ dz +0.5mm
L
Vert-X 27E1
REFEE
THERME(Z)
% MH-C 1.40mm
:\‘1 MH-C redundant 0.90mm
\ ﬂ MH-C2 1.40mm
T & M RATHITRA S0 U 12
// dx +0.25mm
dy +0.25mm
! dz +0.5mm
|
A company of the Siedle-Group

BRABEA () ARAT TEL:400-800-5927 A8T1.: 17316386953
www.imcortech.net



REREERAR (L) FRAF

- -
-

L.
g C

/ A2
/‘\\ l
\ i 1 . f w
& 1 Y
5] & 824, 8
-
|
s 1 | |
“ 45,5
= =1

Vert-X 27E

B
BEXF

RRAERA (L) ARAFE TEL:400-800-5927

www.imcortech.net

CONIELEC

A company of the Siedle-Group
A8T.: 17316386953



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6



